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QUESTION 1

Given: As defined in the 802.11 specification, legacy Power Save requires an inefficient back-and-forth frame exchange
process. Due to this inefficiency, many WLAN device implementations use a variation of 802.11 Power Save to
accomplish the same function. 

What non-standard power save behavior is used by most Wi-Fi devices in actual implementations? 

A. Client devices ignore the TIM field and automatically send PS-Poll frames after every beacon. 

B. After each beacon, the AP attempts to empty its frame buffer by sending Wake-on-WLAN frames to wake each
dozing client. 

C. Request-to-Send and Clear-to-Send frame exchanges are used to trigger the delivery of buffered data. 

D. The Beacon interval is changed from the default 100 time units to 10 or less time units. 

E. Clients send null data frames to the AP and switch the power management bit from 1 to 0 to receive queued data. 

F. Stations send a CTS-to-self frame to the AP with a very long duration period so they can receive all of their buffered
data at once. 

Correct Answer: E 

 

QUESTION 2

Given: In a single channel architecture (SCA) WLAN system, 802.11n (HT) APs should not share an SSID with 802.11g
(ERP) APs. 

What is the reason for this recommendation? 

A. Client stations would see two different sets of AP capabilities as they roam between APs with the same BSSID. 

B. The added range of 802.11n APs would cause additional co-channel interference. 

C. The additional beacon material in 802.11n beacons would confuse 802.11b/g client stations. 

D. Beacons from 802.11n APs use 40 MHz channels, while beacons from 802.11g APs use 20 MHz channels. 

Correct Answer: A 

 

QUESTION 3

Which unit of measurement is a relative unit that is used to quantify power level changes? 

A. dBm 

B. dBW 

C. dB 
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D. mW 

E. VSWR 

Correct Answer: C 

 

QUESTION 4

Given: ABC Hospital is planning a Wi-Fi infrastructure upgrade where the 802.11b/g APs would be replaced with new
dual-radio HT (802.11n) APs. ABC wants to minimize the time and cost associated with performing a new site survey,
so 

they will be mounting all of the new APs in the same locations and with the same cable drops as the existing APs. 

What is one performance drawback with this deployment method? 

A. Multipath will increase, causing excessive layer-2 retransmissions. The retransmissions will cause latency for VoWiFi
handsets. 

B. Increased receiver sensitivity on the HT APs will cause them to continually change channels to avoid co-channel
interference. 

C. If the existing UTP cabling is not Category 6 or better, the total Ethernet backhaul for each AP will be limited to 100
Mbps. 

D. In locations with line-of-sight to client devices and little multipath, the benefits of MIMO may be less significant than in
other areas. 

Correct Answer: D 

 

QUESTION 5

What term describes the effect of increasing the intensity of an RF wave with an antenna by focusing the energy in a
specific direction? 

A. Spatial Multiplexing 

B. Active Amplification 

C. Beam Compression 

D. Passive Gain 

E. Isotropic Radiation 

Correct Answer: D 
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